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Instructions:

Every question is worth 2 points for a total of 100 points.  You may not use a partner for this exam, but it is open book, open note and open Internet.  Submit your answers on the excel document that is available on the web site, and not in this document.  All answers must be either A, B, C or D or they will not be scored correctly.  Pick the best answer.  Good luck and have a great winter break!
1.
If a section of the M.P.E.P. conflicts with a section of the U.S.C., which section will govern?
A – M.P.E.P.

B – U.S.C.

C – Depends on the jury

D – Depends on the judge

2.
Who has a right of publicity?
A – Monica Lewinsky
B – Albert Puljos

C – James Gandolfini

D – All of the above

3.
When is the end of the term of a patent filed on March 13, 1999 and issued on July 2, 2001, assuming that there is no adjustment to its term based on patent prosecution?
A – March 13, 2019

B – July 2, 2021

C – March 13, 2016

D – July 2, 2018

4.
If person A conceives of the invention before person B conceives of the same invention, but B files his/her patent application with the patent office before person A files his/her application, who will the patent office deem to be the first inventor?
A – United States – A, European Union – B

B – United States – B, European Union – A

C – United States – A, European Union – A

D – United States – B, European Union – B

5.
Will the patent office issue you a patent an improved apparatus that can be used as a marijuana bong, if it can also be used as an asthma inhaler?
A – Yes.

B – No.

6.
If the examiner rejects claim 12 of your patent application based upon each element of your claim being found in a single reference of prior art, under which section of the USC would the examiner reject your claim?
A – 101
B – 102

C – 103

D – 112

7.
What is the term of the art used to describe the interchange between the patent office and an attorney representing an inventor before the patent office regarding a patent application?
A – Reissue

B – Reexamination

C – Patent Prosecution

D – Tickle Me Elmo

8.
If Indiana is an inventor of seven claims on a patent application, and Jones is the inventor of the remaining two claims of the same patent application, and both are employees under a duty to assign this patent application to their employer Raiders of the Lost Art, Inc., in whose name will the patent application be filed in the United States?
A – George Lucas and Steve Spielberg
B – Indiana and Jones

C – Indiana

D - Raiders of the Lost Art, Inc.

9.
Can you swear back on a 102(a) and 102(b) rejections?

A – 102(a) only.

B – 102(b) only.

C – Both 102(a) and 102(b).

D – Neither.

10.
Can a reference anticipate a claim of a patent application if it does not have each and every element (or its equivalent) of the claim?
A – Yes.

B – No.

11.
If something is used publicly for more than a year, what situation will allow you to still properly file the patent application?
A – If the use was not for profit.

B – If the use was for the government.

C – If the use was experimental.

D – All of the above.

12.
If two inventors independently a new toilet bowl cleaning apparatus, and inventor A conceived of the invention on 3/1/99, reduced the invention to practice on 6/1/99 and filed a patent application on it 9/1/99 and show diligence throughout the entire time period, and inventor B conceived of the invention on 2/1/97 and filed a patent application on the invention on 7/1/99 without showing diligence during the time period, assuming that both inventors have not abandoned, suppressed or concealed the invention, who will be entitled to the patent?
A – Person A.

B – Person B

13.
When considering the state of the art during the examination of a patent application for issuing an anticipation rejection, the relevant time for determining the state of the art is ________________:

A – The date the inventor conceived the invention.

B – The date the inventor reduced the invention to practice.

C – The date the inventor filed the patent application.

D – The date of the examination of the patent application.

14.
Can an anticipation rejection of a claim be based on combining two references?
A – Yes.

B – No.

15.
If the patent application is enabling, it means that:
A – The invention has been assigned by the inventors to a third party.
B – It will not be rejected under 102.
C – It satisfies the best mode requirement.
D – A person of ordinary skill in the art can look at the patent application and know how to practice it without undue experimentation.

16.
Why would you want to file at least a provisional patent application before public disclosure?
A – Someone could later claim that the invention was theirs or that they were a co-inventor, and it is advantageous to have a solid date for constructive reduction to practice.
B – You want to seek international patent protection.
C – A & B

D – It is better to first make the public disclosure.

17.
Is market testing an experimental use exception that can negate a statutory anticipation bar?
A – Yes.

B – No.

18.
Does an offer to sell the rights to a patent application create a statutory bar?
A – Yes.

B – No.

19.
True or False: Section 103 allows a patent examiner to combine any two or more patent references that describe the technology, so long as they were in existence before the date of the filing of the patent application.

A – True.

B – False.

20.
What was Congress’s purpose in passing the First Inventor Defense Act?
A – To provide for patent eligibility for business method patents.

B – To create an infringement defense for an earlier inventor of a method of doing or conducting business later patented by someone else

C – To restore the viability of 102 prior art rejects.

D – To determine if students could look back through my slides and find the identical language used in this answer.
21.
What types of materials should you retain to prove a date of conception?
A – Scraps of paper with undated notes.

B – A copy of your notes sent to yourself through the mail.

C – A dated inventor’s notebook.

D – Copies of your web site with the materials posted online.

22.
Who declares patent intereferences?
A – The Examiner.

B – The Applicant.

C – An opposing party.

D – A third party.

23.
The first claim of a patent application must always be:
A – Independent.

B – The broadest.

C – Describe all key features of the invention.

D – A picture claim.

24.
Pursuant to Section 112 first paragraph (pick out the wrong answer):
A – The specification must disclose the best mode of practicing the invention.

B – The specification must enable someone skilled in the art to practice the invention.

C – The specification must conclude with one or more claims.

D – The specification must contain sufficient detail so that someone can practice the invention without any experimentation.

25.
Can the preamble limit the scope of a claim?
A – Yes.

B – No.

C – It depends.

D – Claims don’t have scope.

26.
True or False: It is good to include claims for broad and narrow scope in your patent application.

A – True.

B – False.

27.
What is the purpose of filing an IDS?
A – To comply with the inventor and attorney’s duty to disclose relevant information to the patent office.

B – To get a discount on the filing fee of the patent application for small entities.

C – To broaden the scope of the specification.

D – To negate experimental use exception for business method patents.

28.
True or false: An office action suggests to the applicant manners in which he/she should modify the claims to make them patentable.
A – True.

B – False.

29.
True of false: Prosecution history estoppel means that something given up during patent prosecution can’t be recovered except through reexamination.
A – True.

B – False.

30.
The only way to add new matter to a pending patent application is by:
A – Filing a divisional application.

B – Filing a continuation application.

C – Filing a continuation-in-part application.

D – Responding to a restriction requirement.

31.
True or false: A US patent application filed with a nonpublication request can never have foreign applications that claim priority from the US application.
A – True.

B – False.

32.
True or false: Two joint inventors have equal rights to exploit an invention without paying a portion of royalties or profits to the other inventor.
A – True.

B – False.

33.
True or false:  In order to be considered an inventor, you must contribute to the conception of the invention.
A – True.

B – False.

34.
What type of post issuance procedure can result in broader claims?
A - Reissue.

B - Reexamination.

35.
If an inventor who is a resident of Germany first conceives of an invention while in the United States, where is the first place she must file the patent application in order to properly obtain US rights?
A – Germany.

B – Either Germany or the United States.

C – United States.

D – A German inventor cannot obtain rights in the United States.

36.
What is the best method for preserving international rights of a US based patent application by delaying the costs of patent prosecution and the selection of foreign countries in which to file?
A – Timely filing under the PCT procedure.

B – Filing national phase patent applications.

C – File provisional patent applications in foreign countries.

D – You can’t preserve international rights.

37.
True or False: A nonprovisional patent application can claim priority from multiple provisional patent applications.
A – True.

B – False.

38.
Can a patent infringe another patent?
A – Yes.

B – No.

39.
Who construes the meaning of language used in the patent claim in a court proceeding?

A – The patent examiner.

B – The jury.

C – An expert.

D – The Judge.
40.
If an apparatus does not literally infringe a claim, may the apparatus still be found to be infringing?
A – Yes.

B – No.


41.
Will an employer obtain a shop right if the invention is created by an employee who invents and invention within the scope of his/her employment?
A – Yes.

B – No.

42.
True or False: Laches means that you can obtain treble damages if the person who obtained the patent committed fraud on the patent office.
A – True.

B – False.

43.
True or False: Injunctive  relief can prevent someone from doing something.
A – True.

B – False.

44.
What is the best way to avoid damages for willful patent infringement?

A – Wait until the patent issues before using the apparatus.

B – Substitute one element in the patent claim for another similar element.

C – Manufacture the apparatus in a third world country where there is no patent protection and ship it into the United States.

D – Obtain a right to use opinion from counsel

45.
Why should you mark an apparatus with “patent” and the respective patent number?
A – Ability to obtain patent quicker from the patent office.

B – Requirement in order to enforce patent rights.

C – Ability to obtain damages.

D – Requirement in order to obtain patent.

46-49.

Put your name on the answer key.  Submit the test to rlc@greensfelder.com in Microsoft Excel format using the answer form available online before the deadline.  Have a great winter break.

50.
My favorite Randy story during the semester was…

